(SAEN—

Zum Transport
For handling

(1346)

116

1016

==\

121

o)
J)

1016

592

© 0 0 06 o0 _0 0

Druckstutzen
Discharge nozzle

12xM20V 30—

(1144)

1001.1

/1

—D0e-M16x1.5
i

g |

J

156.1 7

i

| —SPM-M8

647

4T

22

\ Lx@BLé

b

©
S

466.700
46672 97( 166437

100
180

40

B511.175.0.05

@660

Y

\xM207 30

32.5

621

A
w Y
Il

L

(28)

800

1099

(1141)

Anschluss fuer min. Oelstand G3/4
Port for min oil level

- '@' 1

| 248.6

4x@26 Oelstandsanzeige

Anschluss fuer Oeltemperatur [33/&/

Port for oil temperature

0il level indicator

622

T
—\Oelahlauf

0il drain

483.1

Transportbohrungen 2xM247V 38
Threads for eye bolts for handling

456 @

Saugstutzen
Suction nozzle

12xM207 30

N

180

100

40

Oelruecklaufschraube M12
fuer Filterwechsel

Oil drain screw M12

for filter exchange

-

- H

Anschluss fuer rnin.——\

I

Oeldruck G1/8
Port for min.
oil pressure

1 | E— -

621

92.5

I
g =:

301.1

Oe-M16x1.5

[

A\

380

19

22

2/

Abdrueckbohrungen 4xM16
Forcing threads

| I —
(34)

105 \ __—

Z-GE/L

Anschluss Gehaeuse-
entlueftung G1
Port for vent of oil tank

91

Oeleinfuellung
oil fill

550

622

SPM-M8

483.1

JJ

=
L

D0e-M16x1.5

(380) .

310

OeA-G1
zum Oelkuehler
to oil cooler

iy

1036

T

o
A
£,

(@]

[©)
VAV — i — =
il

e)
=/

771

229

76
123

J 108
0OeE-G172

Moeglicher Anschluss (Oel) G‘V?—/

fuer Drosselklappeneinheit

Port (oil) G172 for optional inlet valve

352 \ (34)

\—Anscnluss Oelheizung DNSO PN6
Port for oil heating

DR

Drehrichtung
Direction of rotation

OeA

Oelaustritt
0il_outlet

OeE

Qeleintritt
Oil_intet

D0e

Diagnoseoeffnung
Port for diagnosis

Laterne
Sealing vent

SPM

Messstelle fuer Schwingungsmessung
Test point for vibration measurement

S

Schwerpunkt
Centre of gravity

Oelfuellmenge (ohne Rohrleitungen): ca. 67 L
0il fill quantity (without pipings)

Ein Anschluss G1/2 neu / Transportbohrung versetzt /
Zeichnungs-Nr. geaendert
0ne porf G1/2 new / Thread for eye bolt for handling|
moved / drawing no. changed

05-013 A 3

28.04.2005 |Post / Besseling

Erstellt/Geprueft
Created/Checked

Ae.-Antr. | Rev. |Anz. Aenderungsbeschreibung Datum
ECR No. | Rev. |Qty. Description of thange Date

T awing® DIN A0 W 401 Uz 049 [mees )
Taieranzen " FroT Cote Hagell- do
Tolerarces S0 2768-MH | progker coce. oiern . pvs

0
Teriashen 150 1302 e (07251 Gewicnt 4 5

@GHHMND Einbauzeichnung Maschinenblock mit Kupplung
a0 soranenamresseren oan| /1513La1ion drawing Screw Block with coupling

ca. 2200 [BE gy

o IRy —
Degartnen 0C z Zeichounge N Bian 7 sheet

00 T Tl (22651855 [z ;

Wellerverggbe sowie Yervil aellicung dleser Zeihung. VererTing wd MTel
jdertanctingen verafichen )

von / of

1

sy |07.1. |Besseling [ ®

Geeel [10.11. |Post

SO 22651855 A ®

|Banes 7 401-0-007589

Thres Imhalls Sing verboten. sowell nichi 3usdruecklich
estaiel en 2y Schagenerzatz. Ale Recie fuer en il der Patent.”una Gebraichsmustereinivaqing vorenaen.
e reproduciion, disirioution and ulilizalion of 1his drawing 2 well as fhe communication of ifs Contents 1o others withoul explicil
aufhorization is promipited. Offenders wil be feld Liable fof e payment of damages. All righis réserved in the evenl of fhe Grant of a
patens.”utiity movel or_design.

12 i} 10




